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:.‘I EXERCISE - 1.4

1.  Evaluate each of the following :

@ 76+19 @) (-156) + (-12)
(i) (=125) = (-1) @iv) (125) +(-25)
v) 0+(5) (vi) (-15)+(15)
2. Write all even integers between 18 and 0
3. Write all odd integers between -9 and 9
4. By what number should (-240) be divided to obtain 16 ?
5. Find the value of :
(0 125=[5+(-1)]
(i) [169+13]+[26 +2]
(iii) [(-105)=3]+7
6.  Simplify: 12-[8+27=(2x8-7)]
7. Simplify : 10-[8- {11 +30+(4+2)}]
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% The quotient of two integers is always an integer. _ (True/ Fal
10. If a and b are two unequal non-zero integers then @ = b=b*a %)
WHAT HAVE WE DISCUSSED ?
L. The numbers ........ -3,-2,-1,0, 1,2, 3 ........ are called integers.
2. Theintegers1,2,3 ... etc. are called positive integers.
3. Theintegers -1, -2, -3, ........ etc. are called negative integers.
4. 0is neither positive nor negative. :
5. Toadd twul:::::::s with sgamc signs we add their numerical values and put the sign of

addends with the sum. ) -

6. To add two integers with different signs we take the difference of their numerical valyeg
and put the sign of integer with the greater numerical value. o

7. For any integer a, we have a + (a) = 0, We call (a) as the additive inverse of a.

8. Distributive law of multiplication over addition is a x (b +¢) = (a x b) + (a x ¢)

Properties chart for four fundamental operations on Integers.

momm Addlting Subraction Multiplic.aﬁon mﬂ?ioé ‘
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LEARNING OUTCOMES
After completion of the chapter, the students are now able to :
1. Define integers and represent them on number line.
2. Perform basic operations of addition, subtraction, multiplication and division on
integers.

3. Investigate the properties under addition, subtraction, multiplication and division of
integers.
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PROPERTIES OF DIVISION OF INTEGERS
(1) When an integer is divided by another, the quotient need not be a

. i
5 = 6 is not an integer L.€ 3 is not an integer,

n integer.

For example (i) 5 and 6 are two integers, but
(if) =3 and 7 are two integers but (-3) = 7 is not an integer ie _T is not an integer

(2) For every non zero integer a, we havea+a= 1
For example (i) (+7)+(+7) =1
@) (-5) = (-5) =1
(3) For every non-zero integer a, we have 0 +a=0
For example (i) 0+ (+5)=0
(i0+(=2)=0
(4) For non-zero integers a and b, where a # b we have
a <+ b # b +a (i.e. commutative property does not hold)

For example 15+5=3but5+15= 3
(5) For non-zero integer a, b and ¢ where a # b # ¢ we have
(a+b)+c#a+(b+c)(ie. Associative property does not hold)

EVEN AND ODD INTEGERS
Even Integers : All the integers, which are exactly divisible by 2 are called even integers.

il DA s

are some even integers.
Odd Integers : All the integers which are not exactly divisible by 2 are called odd integers.
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are some odd Integers
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BXample-1: Simplity () 63 + (7) (i) (-80) + 16 Gii) (72) + (~9)
Sol. We have
(i) 63+(-T)=-9

76319

63
.

(i) (-80)+16=-5

(i) (-72)+(-9)=8

97218
72

x

EXample-2 : Write all even integers between ~20 and ~10.
Sol. All even integers between —20 and 10 are —18, —16, —14, —12

EXample-3 : Write all odd integers between —6 and 12
Sol. All odd integers between -6 and 12 are -5, -3, -1, 1,3, 5, 7,9, 11



